
  
  
  

  

  

  

    #�اس%$  ����ل #���"�	ت ال ��	س��م ال��ّ�� ��آ��� ال��ل� H2O2  � ل��	ء ا�آ�����ل���� �
	��ة ����

 C1 = 2,0 × 10
 –1

 mol/L.   

 ، 56 �4�2 ل1 ��ر�(�	 �. س�	ح$ ����ل  و�2
1 �0 #�/� �ا�آ����� �. ال�	ء V0 = 10 mL�-,+ ح(�	 )�ر� 

  .#���"�	ت ال ��	س��م 

   .VE = 14,6 mL :�< ال=>	0; :���	 �4�2 �. ال��	ح$ ح(�	 )�ر� ��89

  : ه� �
	دل$ ال=��ل ال>���ـ	?� 

 5 H2O2 (aq)  +  2 MnO4
–
 (aq)  +  6 H

+
 (aq)   →  5 O2 (g)  +  2 Mn

2+
  +  8 H2O (l)   

  : #	Hس=
	�$ #G+� ال�
	دل$  – 1

dOxاآ=L ال�K	?�=�. )            أ Re/ .�=�:	M=ال� .  

  .اآ=L ال�
	دل=�. ال��M9=�. لQآ��ة ولPر�ــ	ع )           ب

  . ش	ردة ال ���"�	ت �0 ال��	ل�8 ال�	?�$ #��M(�$ ال��ن – 2

  �	 ه� ال�=M	:8 ال��� ) 8 ال=>	0; ؟ ) أ           

  �ــ	 ه� �;شّ� #��غ ال=>	0; ؟)            ب

3 – X/�دة أ	آ��$ �ـ .�# $(Y
MnO4 ��ول ال=]�م  واس=�=Z ��1  ال
    .H2O2  وآ��$ �ــ	دة –

7,3 × 10 = [H2O2]  ،  56 �-آّ� أن  #  C1    ،  V0 ،  VE�Hل$  ]H2O2[  او�� – 4
 –1

 mol/L        


=�ل  ل� اس=
���	  �0 ه+� ال�
	��ة ����H ل ���"�	ت ال ��	س��م �0 وس` أ)8 ح��ض$ أو وس`– 5� 
 ّ+ر، #ّ�. أ�1 �=

      .:���	 ����� ال=>	0; 
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